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Current [pA] vs time [s] and counts
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Current [pA] vs time [s] and counts
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Current [pA] vs time [s] and counts
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Current [pA] vs time [s] and counts
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1499018600-for-seq-15-exp-1

Current [pA] vs time [s] and counts
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Current [pA] vs time [s] and counts
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Current [pA] vs time [s] and counts
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Current [pA] vs time [s] and counts

1499026078-for-seq-48-exp-1 1499026181-for-seq-48-exp-2
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Current [pA] vs time [s] and counts

1499027061-for-seq-51-exp-1 1499027177-for-seq-51-exp-2
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1499028363-for-seq-54-exp-1

Current [pA] vs time [s] and counts
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Current [pA] vs time [s] and counts

1499029597-for-seq-57-exp-1 1499029737-for-seq-57-exp-2
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1499030693-for-seq-60-exp-1

50

Current [pA] vs time [s] and counts

100

150 200

- 44000

Gaussian:
U=42767 pA
o=393 pA
‘Raw:
u=42750 pA
o= 388 pA
‘Gaussian:
U= —1.90 pA
- o=1.44 pA

10

20

30

1499031006-for-seq-61-exp-1
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1499030842-for-seq-60-exp-2
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Current [pA] vs time [s] and counts

1499032069-for-seq-63-exp-1 1499032320-for-seq-63-exp-2
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Current [pA] vs time [s] and counts

1499033603-for-seq-66-exp-1 1499033883-for-seq-66-exp-2
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